AP Statistics
Two Sample t-test.  
Used to see if the population means for two different populations are the same.  Be careful:  NOT the same as a matched pairs test. ( A matched pairs test generally uses same population and takes two samples and then tests the difference.)

DID THE ATLANTA BRAVES SCORE THE SAME AMOUNT OF RUNS AT HOME (TURNER FIELD) AND ON THE ROAD IN 2016? 
A random sample (with replacement) for Atlanta Braves in 2016 home and away from Turner Field.  The following are runs scored.    
Home:  1,  7,  4,  7,  13,  0,  3,  4,  2,  0,  0,  1
Away:    0,  9,  5,  5,  0,  4,  6,  6,  7,  5,  5,  3,  3,  2

Is there convincing evidence that the mean runs scored are not the same for home and away?
Answer the question; 
[bookmark: _GoBack]a)  doing a 2 sample t-test completely by hand using conservative degrees of freedom.      (t-table on the back of this handout)  
	b)  doing a 2 sample t-test using technology.
	c)  Using a confidence interval.  
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“Tail probability p
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10 700 &S 109 131 18 228 239 2764 3169 3581 4144 4587
1| 697 s 1088 1363 179 2201 238 2718 3106 3497 4025 4237
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13| 6% &0 1079 1350 1771 2160 228 260 3002 3310 382 421
14| 69 s 107 1345 1761 2145 2264 264 2977 3336 378 4140
1| 691 865 1074 1341 1753 2131 2249 260 2047 328 3733 4073
16| 60 85 107 1337 1746 210 2235 258 20 325 368 4015
17| 68 83 1069 1333 1740 2110 224 2567 2898 322 3646 3965
18| 688 8 1067 1330 1734 2101 2214 25 2878 3197 3611 390
19 688 81 1066 138 179 2093 2205 253 2861 3174 3579 3883
20| 687 860 1064 1335 175 2086 2197 258 2845 3153 352 3850
2| 686 89 106 1333 171 2080 2189 2518 2831 3135 357 3819
2| 686 88 106l 1321 177 2014 2183 2508 2819 3119 3505 3792
3| 685 88 1060 1319 1714 2069 2177 2500 2807 3104 3485 3768
2| 685 87 105 1318 1711 208 2172 2492 2797 3091 3467 3745
25| 684 856 1058 1316 1708 2060 2167 2485 2787 3078 3450 375
% | 684 856 1058 1315 1706 205 216 2479 2799 3067 3435 3707
27| 684 855 1057 1314 1703 20 2158 2473 2771 3057 341 360
28| 683 85 105 1313 1701 2048 214 2467 2763 3047 3408 3674
2| 683 854 1055 1311 1699 2045 2150 248 2756 3038 3396 3659
30 | 683 854 1055 1310 1607 204 2147 2457 270 3030 3385 3646
4 | 681 81 10 1303 168 201 213 243 2704 2971 3307 3551
50| 679 849 1o47 1299 1676 2009 2109 2403 2678 2937 3261 349
60| 679 848 1045 1296 1671 2000 209 230 2660 2015 3232 3460
80| 678 846 1043 1290 1664 1990 2088 23714 2630 288 3195 3416
100 | 677 845 104 1290 1660 198 2081 2364 2626 2871 3174 3390
1000 | 675 842 1037 128 1646 196 205 2330 2581 2813 3098 3300
- 67 1 1036 128 1645 1960 2054 2326 2576 2807 3091 3201
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Confidence level C





